EIhZEERESYY S

SS series

BB200,B-200Y U—X[C3d I
REEDHKEEETCHRESEDIVINI MRET

OE2RHERED2/3D IV INT "+ X
OCEREN T SICUP
Q=S HENDESICUP (154X EDF v v o (CHR AL
*CEXtING (FEEREEM D)

s[5 w u v
R PN
._'r’E 7 1 R1 At B1 Z 6-Z1
T BN AR = P2
i, = =
N & i’ -+
S :Oj
N = ﬁcﬂﬂ .
A ~| o SALP1 (N [i ~ P
PR A 2 || o|w|Z|5lols
T 3 S Z|8[%|3 1=s0 M- IR
B « - - ¥ B, Y1 B - JL1][C1 el
P4 YT 1l
| ~1 —
2X2-S1 L %&Q{ H
Wi =
6-E1 [V =
4-Q1 S
12-F1
A i
Re 1 =
5 c K1
433
W LRHRE
6-M8 Bt AL b
(M10OF T3k
(60" EFR)
B TR

SS81246K [162|147]130| 75| 65| M55%X2| 46|40 | 64| 85|116]120|120| 13 | —3 [45.0|29.0
SS1452K [180]165|140| 80| 70| MBOx2| 52|40 | 73| 96|135|130|130| 19 | —3 |535|315
SS1453K [180|165]140| 80| 70| MBOX2| 53|40 | 73| 96|135]130|130| 19 | —3 [53.5|31.5
SS1666K [207]190|168| 95| 85| M75%x2| 66|48 | 88 |111|154|150|150 | 22 | —3 |58.0|33.0
S81775K [212]195]160|105 | 95| M85%x2| 75|46 | 98 |121|164]160|157 | 22 | —3 |57.0{32.0
SS1881K [222]|205|168 (110 |100| MS0Ox2| 81 | 46 |[103|126|175|175|167 | 23 | —2 |58.0|33.0
SS2110K 260240 200 135 1125 [ M115X2 106 | 46 1133160 1210]200|192 | 27 | —3 64.0/34.0

8.5| 795 25

00|00 |00 |00 (00|00 (0O
©
@]
[e0)
[e¢)
o
W
o

E1®& F1®s Gl HI

SS1246K |M6x 10| M10x20| 84| 98| 76|47 |15 | 50| 76| 4 | M5x6 | 65|Rc¥/s 12 |165/57.5 M52x 15| 500] 29 |M8 |15 9
SS1452K |M6x12| M10x20| 93|110] 86|47 15 | 55| 85| 4 | M6x6 | 70|Re¥e| 12 |184]66.0] M58 15| 560[ 30 [M8 |12 8
SS1453K |M6x 12| M10x20| 93[110] 86|47 15 | 55| 85| 4 | M6x6 | 70|Rc¥/s| 12 |184/66.0] M58x15] 560/ 30 [M8 |12 8
SS1666K |M6x 12| M12x24 [108145] 97|47 15 | 70[100] 4 | M6X10|165|Re'/2| 12 [211[71.0] M74x15] 715/ 36 [M10[ 19 9
SS1775K |MBx 12| M10x20|110[155(100] 47 |15 | 80[108] 4 | M6X10 |140[Rc'/2| 12 |216(71.0] M84x20| 810] 33 |M10| 18] 9
SS1881K |M6x12| M12x24 115166105/ 47 15 | 85[113| 4 | M6X10|165|Re'/2| 12 |226[71.0] M89x20] 860 38 [M10[ 19| 9
SS2110K_|MBx 12| M12x24|130[201]124[ 47 |15 110[145] 4 | M6X10 |160[Re!/2| 12 |263]795[M118x20(1150] 45 [M12] 18] 9
B {HERR
€ARYAND= o BEGRUT, FERSDESE MET-XUh HE L
cma2 cma2 kN(kef) kN(kgf) mins kg ¢ /min
SS1246K | 128 16 |1026| 91.5|436(4446) | 389(3367)| 4.50(45.9) | 8000 0.017 80| 3.0
SS1452K | 145 22 [1329]122.6|5656761) [521(5313)| 4.50(45.9) | 6500 0031 [130] 39
SS1453K | 145 22 [1329]122.6/5656761) |521(5313)| 4.50(45.9) | 6500 0031 [130] 39
SS1666K | 165 25 |166.1]152.9|706(7199) | 650(6628)| 4.50(45.9) | 5600 0065 [190] 40
§S1775K | 170 25 [166.4]152.2] 70.7(7209) | 646(6567)| 4.50(45.9) | 5500 0061 |185] 42
SS1881K | 180 25 [187.1]172.0|7956107) | 73.1(7454)]| 4.50(45.9) | 4800 0087 |240| 43
SS2110K_| 210 30 2298|2185 7470617 | 71007240 3.50(35.7) | 3500 0197 1370 60




Compact Style Large Thru-Hole High speed
Hydraulic Cylinder with Open Centre

Ss series

Accommodates BB200 and B-200 series
The compact design maximises Lathe performance _:l

@Compact : 30% reduction in length of current S series =

@®Speed Increased ) |

@Can operate one size larger chuck due to increased pull forces
*CE correspondence (Only series with checking device)

B Dimensional Drawings W d Y
P 1 R1 Al B1 Z 6-Z1
e Insert hole
I for setting bolt 25 Vi ’E A2
Wl L =
B\ i 188 9 —‘ﬁ L
g \>: ‘ Y 4 ﬂj
) 3 -9 / ) | = Forward
SN 2 = Z ;ﬂ
A i i 3 A S P1 7 ] o
Y \ “la|E| 3|52 AT 2| ||H| o|lw| =5 o5
B T 115 (WSS Og - = H %3] 150 X5 RSP s.i
B\[T B R RN, B, Y1 B At - JL1][C1 - o
= =] e i L U
AN ; A N =
2X2-81 /X ' — H
o
- |
w1
6-E1 /\,
4-Q1
12-F1
P i
Re 1 G1
Eé 9 e/ K
) 20 N
433 > .
©
M View from L

6-M8 Setting bolts
Used for M10 setting bolts
(Equi-Spaced at 60" )

30°

i g (Equi-Spaced at 60" ) .
(Equi-Spaced at 60" ) 15010 (Equi-Spaced at60)
SS1246K - 1452K + 1453K SS1666K - SS1881K SS1775K SS2110K
H Dimensions

Dimensions

SS1246K |162|147|130| 75| 65| ME5X2| 46|40 | 64| 85|116]120|120| 13 | —3 |45.0/29.0

8
SS1452K |180|165]140| 80| 70| MBOxX2| 52|40 | 73| 96|135|130|130| 19 | —=3|535|315| 8
SS1453K 180165|140| 80| 70| MBOx2| 53|40 | 73| 96|135|130|130| 19 | —3|535|31.5] 8 .
SS1666K |207|190|168| 95| 85| M75x2| 66|48 | 88 |111 |154 150|150 | 22 | —3 |58.0|33.0| 8 [13.0| 995/ 35
8
8
8

S51775K |212|195]160]105 | 95| M85x2| 75| 46 | 98 121 | 164 160|157 | 22 | -3 |57.0/32.0
SS1881K |22 |205[168[110 [100 | M90x2| 81| 46 |103 126 [175|175|167 | 23 | —2 [58.0/33.0
S52110K | 260240200135 [ 125 | M115%2 | 106 | 46 1133|160 |210/200]192 | 27 | —3 |64.0/34.0

el DImensions 4 gepth  F1desth G1 H1 J1 K1 L1 M1 N1 P1 Qldeth R1 ST T1 U1 V1 W1 X1 Y1 Z1 A2 B2
SS1246K |MBx10|M10x20| 84| 98| 76|47 15 | 50| 76 M5X6 | 65/ Rc¥/s| 12 165|575 M52x 15| 500|29|M8 |15
SS1462K |MBx 12| M10x20]| 93[110| 86/47]15 | 55| 85 MBX6 | 70[Rc¥s| 12 |184]66.0] M58X 15| 560/ 30 M8 |12
SS1453K |MBx 12| M10x20]| 93[110] 86]47]15 | 55| 85 M6x6 | 70/Rc¥s| 12 |184]66.0] M58x15| 560/ 30| M8 |12
SS1666K |MBx 12| M12x24[108]145] 97[47]15 | 70[100 MBX10 |165|Rcl/2| 12 [211]71.0] M74x15] 71536 |M10[19
SS1775K |MBx 12| M10x20|110]155[100]47] 15 | 80/108 M6X10 [140/Rcl/2| 12 |216]71.0] M84x20] 810/ 33|M10] 18
SS1881K_|MBX12 | M12X24[115]166]106/ 47|15 | 85113 MBX10 |165|Rcl/2| 12 [226]71.0] M89x20] 860/ 38 |M10| 19
SS2110K |MBx 12| M12x24 130201124 47|15 [110[145 M6x 10 [160/Ral/2| 12 [263]795/M118%20[1150] 45 |M12] 18

17.0]1060] 35
20.0]1205 35

BIRIDIDINININ
©O|O|©O|©O|n|m|©

M Specifications

~ Piston Dia. Piston stroke PELS;dD: PAuITESe Push SDi;aew gill-l Side Maérgggfetlon Max. Speed Moment ofEinertia W'g{egtht
Model mm mm cm2  cme kN(kef) kN(kef) MPa(kef/om?) mint Sl kg
SS1246K 128 16 102.6] 91.5|436(4446) | 38.9(3967) | 4.50(45.9) 8000 0.017 8.0 3.0
S81452K 145 22 132.9|122.6|56.5(6761) | 52.1(6313) | 4.50(45.9) 6500 0.031 13.0 3.9
S51453K 145 22 132.91122.6|56.5(5761) | 52.1(5313) | 4.50(45.9) 6500 0.031 13.0 39
S81666K 165 25 166.1[152.9]70.6(7199) | 65.0(6628) | 4.50(45.9) 5600 0.065 19.0 4.0
SS1775K 170 25 166.4 1 152.2|70.7(7209) | 64.6(6587) | 4.50(45.9) 5500 0.061 18.5 4.2
S51881K 180 25 187.1[172.0795(8107) | 73.1(7454) | 4.50(45.9) 4800 0.087 24.0 4.3
SS2110K 210 30 229.8|218.5)74.7(7617) | 71.0(7240) | 3.50(35.7) 3500 0.197 37.0 6.0






